b
S
j -
N
H
N

e R EEREEMEFEME
(5= A)
SF7E4IR1H

[ B




SH7EEFRAR_AONEBEREXBRAEMFEMR (O RAEM)

<fHE> (Fith=)
2 % ==X v i 7 S =
DHHERE BE 58 16,000
DHHERE ERSh SR HE 58 20,500
< BEERIERIS > (Fith=)
2 % ==X v i ¥ S ==
FREZ - TUER1E 3£ =] 100,000
<EME> (FiiRE)
e R BAT | flidg =
ATL— 300ml, 7L &
“ S g4 - - 100MAY /1%
FrovItE=—ILR L200 X W140 X D0.04=1) =% SCREEL 141 4 B4 41
. N 20—k AY /158
QRI—KFZRIE RILFT)RASR)L (FEFESNIL)18HE| K SR (41 E
<BKEEE> (FitRE)
e R BGT | flidg -
_ s 2018 A 5>/ %8 (10041 X) | o
<fHEFE®R7TITIERE> (FitRE)
e R BAT | flidg ==
BESRIRS50088 E C- IR EURA R 282,000
BE#FRIE1,0008EF T - HAfF 1 £ IR =®
VSR ER -FRERY [BEHFRE150088F T-HR1EURA =®
BEZFR1E2,0008EE T - HAfE 1 £ LN =®
BE##R#E2 000588 % - HARGI 1 £ AN = | 1,144,000




